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Data Sufficiency

Sgro? DU

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following gmdelines:

(a) Maik choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Maik choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and IT together are not sufficient to
answer the question and additional data is required.
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What is the area of the circle P?

STo P o7oidoes?

I Diameter of cucle Q=6 cn

D30 Q TR0 =6 2o, S,

II.  Radius of the circle Q 1s twice the radius of circle P
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What is the value of xy?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.
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Is x positive?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What is the value of 2 + s?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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If p and q are positive real number, is the product of pg=1?
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Data Sufficiency
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Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data 1s required.
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When n and m are real numbers. what 1s the value of n?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data 1s required.
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2p+3q
What is the value of —?
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1I. p and q are positive numbers
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Data Sufficiency
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Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone 1s sufficient to answer the question.
Mark choice (2) if the statement IT alone 1s sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.
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Is ab=cd?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
(a) Mark choice (1) if the statement I alone is sufficient to answer the question.
(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.
(¢) Mark choice (3) if both the statements I and I are sufficient to answer the
question but neither statement alone is sufficient.
(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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For the function £ R—R. is f (— %) = G) = f(2)?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as 1
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Maik choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

AP3S: 198 (99 S0 2.8 (97). ° 1806 L I @ HA&EeD e Dok
DIVTEN GTOFOMT  QIJATOW. JV)I)D OTO0FR)
GOTTNOD). D )N [DSTITED (D) F) DIPTH ) N YOS
DO°LTEN @A B @ B AFT00TE. & AT G

80O SrGG08 Ar@e) GHTNoD) (1) O (4) B8 DO
0NA B2 D0DE DONOB.

(a) DFLI DIPTRH0 VD IO DIDID0 I S5 DTEReN0NS
D 235720 (1) T HOO0A.

(b) 1¥)30 DTN DD HONEY (D630 I (€553 DT ERDONS
3 23520 (2) T MO0,

(€) DT DITPTH0 AT )ODI 1DSDITEN L. I FOR DTN
©OMNS D 2,563 @ HOUN0 TIFS D Borey (B) M
MO0B0E.

(d) 10930 QTTO0 9T YONE (DI eN L I EO ST HTE0
58 90 OF0F0 @IIGDONS oD BT (4) M (HO00B.

What is the surface area of the rectangular solid Y ?
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I. The dimensions of one face of Y are 2 and 3.
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II.  The volume of Y 15 12.
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and 1l together are not sufficient to
answer the question and additional data 1s required.
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Is ab a rational nunber?

ab 2.8 eschoD ®oary?

1. ais arational number.
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II. bis an urational number.
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Data Sufficiency
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Note: This question 1s followed by data in the form of two statements labeled as [
and IL You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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If the perimeter of a rectangular hall is 80 feet. what is its area?
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[ The length of the hall is 25 feet.
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II.  The length of the hall is greater than its width.
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Data Sufficiency
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Note:

(a)
(b)
()

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements T and IT are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

BPeSR: 1963 (54) 65D 2,8 (D). o 1808 L I @ rHX)en #e> Do

OIVT) OTFOFOMT  JJJDTON. VD)0  JTOFTW)
&JATPNOD), BN IS (DSDITED (DF) 50 ST AT )00E
DO SN @Ay B @ M JT00rd). & JT G

80O SrPGE SrEe) GOBTPNOD (1) OB @) HBH OO
AN B2 DODE DADOAB.

(a) 109)30 QITTH0 AT YOCNH (DIIN0 I S3P(€503) TERN0N S
D 23520 (1) T 1000 AB.

(b) 139930 QTS0 AT YOLNED (DSRS0 I S50 NTERDONS
3 22D (2) T H00V0A.

(©) DFYB0 DATTH0 BD)0CHH (DSTIT e 1. 11 EOR HTERDO0
©oNS @ 2883 ST HOUN0 TENFS D 2y (3) ™
HO0BoA.

(d) 129%) 80 D0 IV YOCHH (DITIT N LI EOR) §0°EF HT™N0
58 0955 ST0F0 SHBHoNS e 2357720 (4) T HB0B0B.

What is the value of the integer x = 07?

Prgroso X = 0 Dewsd does?

I. 16%isodd

16" &%

II. 157 is odd

15" &%



Options :
1.1

o %2
3. %3
4. % 4

Question Number : 14 Question Id : 9126062874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

B0 DO

Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data 1s required.

DI0TsS: (963 (D9 S0 2.8 (H%). T (80 L IT @ tHiden He> Do

DI AT0FOMT QN JDTON. WV ATOTFR),
SHNOD. YDA (HDIVITEN (DF) 50 DSTFTTR) AW )ODH
DTN YT O BE® @ D JFT'00TE. & JT° G5

80O SrPBG8 Sr@Een GHAEN0D (1) ADOB (4) SB35 OO
0N 22D DODE DONOA.

(a) 1D¥)50 QTTH0 VD YODH (DIINO0 I S35 DT°ERDONE
N 272 (1) T HAo0AB.

(b) 159%)50 DSPHRH0 AW YOCDE (3TN0 IT 365530 DT°ERDON S
N 23720 (2) T HOo0W0A.

©) 1D%)50 SSITPHEH0 WD YOO (DIIDEEN L II EO DTN
©ONS & 28383 HrEm JDOEN0 TEFS o Baraw (3) M
DHO0B0E.

(d) 1D%)50 DSPFH0 QB YOO (DIITPeN L ITEOR SE° HT°R0
58 @93 BTOF0 ©IHIBDONS oD 272 (4) T (HO0VIOA.

Isx = y?

x = yeashHdoome?

L 2x+ y=9

IO |x—y|=25



Options :
1. %1
2. % 2
3% 3
4 ¥ 4

Question Number : 15 Question Id : 9126062875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Bgro3 DO

Note: This question 1s followed by data 1n the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d)  Mark choice (4) if both the statements I and 1l together are not sufficient to
answer the question and additional data 1s required.

Hoeesed: (06 (HF) S 2.8 (59). T 180S L 1T @ Hhen Ko Boch
DIWVTED OTOFOT  JIJVTOW. IVIO  AT0T)
EATHNORD). DI DIV (DFYE AATHTRR) QT3 )ONE
DofTren @HB oI B @ & AT00TO). & JT°Badd

1808 GG QFEren SHTrNOD (1) DOB (4) VK HO
0D BT DONE DODOA.

(a) (DY SO0 BT YOOI (DIID0 TSP HT°§RHONS
A 32w (1) T HO0BOA.

(b) 12%)50 DIPTR0 QD YOI (DSIS0 I AT DT°5aD0NED
N 22 (2)  HOoBOB.

(€) DFYBO ISPETI0 BT YOCHH (DSITIT®ED I, I EOD HT500N
©@oNS Q) 2883 SrE HOTN0 SEFS H zaen (3) ™
MDHOoB0A.

(d) (DF)YB QIFFTF0 QD JOE |NSITeN L 1T ) ST HTER0
55 @908 BT0F0 @HIBHoNS D B2 (4) M Hlohod.

In the figure. is AB = AC ?

006" AB = AC  eodyehoor?

L. x4 Yy =&

I. y=180- =z



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 16 Question Id : 9126062876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Seros

DO

Note: This question is followed by data in the form of two statements labeled as I

and II. You must decide whether the data given in the statements are sufficient

o

answer the questions. Using the data make an appropriate choice from (1) to

(4) as per the following guidelines:

(a)
(b)
(c)
(d)

e eded

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

: 108 (HFYS 2.8 19H9). T (80 I IT @ Hhen Ke> Dok

DAV ATOFOT  QIJATAN. WD) AT0TR)
SHTPNOD. AD ) (DTN (D%) 80 TR 2D,)ODEL
DTETEN YT B @ DB AFT00TO. & JTBeadd

80O SrPBGE Sr@ren GOATNoD (1) OB (4) S5 OO
0NN B2V DONE DONOA.

(a) 1DHF)H QN0 BT YOCHH (DD I (53 DT°ERDANES
3 2520 (1) e HO o0&,

(b) (HF)H0 DITPGO0 D )YOCDH (DIIDO0 I SP(€hadd HTERDONS
o 23672 (2) ™ HBoB0A.

(©) %) DIPTD0 QT IOHE (Dadedmren L II O HT°ERD0N
oS D 83 SrE JoEN0 TENFS N Bayred (3)
HO0H0E.

(d) 1DFLE0 DPTO0 BT YOOI (DTN L I O 0T HOEN0
58 @93 AT 0F0 9GNONS o B2 (4) M HOOB0A.

For a,b € R.if the number of positive integral divisors of the positive integer

4ab is 3. then what is the value of b?

a,b € R o BIRrTrogo 4ab ), GJRTT0S STEETFoS L Doay 3

ead. b 031}52} Qe doeh?

15 a=>35

II.  ais a prime number.

a 8

DT 700&35.



Options :
1.1

o %2
3. %3
4. % 4

Question Number : 17 Question Id : 9126062877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Bgro DODS

Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone 1s sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

QTS d: 1963 199) S0 2.8 (H9). o 180 L I @ HiYex fe> Do

RIVTEN ATOFOIT QN[DTON. WD) AT0OFV)
SHTNOD). YDA (DTN (DF) 50 DT VD )ODH
DTETEN HBOL® BE® @ O JT00TE. & JT° BB

80B SrPBG8 Sr@ren GHAIPN0D (1) OB @) SB% OO
0NN BIP2DD DOE DOANOA.

(a) 1DF)H DSTTTH0 VT YOOE [DeIIS0 I SF€523) DTERDONES
a B2 (1) T HO0B0A.

(b) (%) 50 DT H0 BT JOCDB (6330 I 353 DT°5DONS
) 22D (2) T HOOB0A.

©) 1D%)50 JSPEH0 DD )OOH (DI e L II O HT°ERHO0N
@ONS’ d 2833 Hremr DoNN0 TESFB N Baren (3) M
DNO0B0E.

(d) 1DFLH0 D0 AT YOO (DedTIre I I EO G HOER0
58 @908) OF0F0 @IHIBNONS 2D a2 (4) M HOO0VOAB.

What is the integer a?

Qrgroso a &?

1 1
L=<——=<
7 24a

II. a?

B | e

+ 24 = 10a



Options :
1. %1
2. % 2
3.9 3
4 % 4

Question Number : 18 Question Id : 9126062878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

QP IS: (08 (DF) S 2,8 (09). T (808 L I @ Hen (fe> DO
DIDoren SdToFomr  QNFDTON. WD) ATOFTR))
SHTH0D. BN ) DIIT D (HFY H0 DSTTTRQ), 2D )00
DB ©HB0T® BT° @ D ATO00TE). & AT BH

18060 HrOGHE8 SrEe) &GHTNOD (1) DOG @) HBB HO
€900 27°20D DONE DOHOA.

(a) (9930 QITFPEEI0 AT YOOZ (IO I S DT°§ReDON S
o 2320 (1) 1 HO0B0A.

(b) (D¥)H0 DAFGES0 BT IODEL (DSID0 IT 5776533 DT°ENHON S
A 235°20 (2) ™ HOoW0A.

(©) (D¥)H0 DAFGES0 [T H0DZ (DSITTeN L IT 5O HDTERD0M
OS2 wEE S HoIN0 TEFS H 2y (3) ™
HBo0A.

(d) (D% 80 SIFGTH0 QT )ODH (DSBT e I, I D 5@ HoEN0
578 @308 OT0F0 @:90G00NS b B2 (4) M MHOOTIOA.

How old 1s Raghu?

8200 Sabday Joes?

1.  Today is his birth day.

& B wad DB Ber.

II.  One vear after he will be twice as old as 10 vears ago.

2 P05 G0 SHIG WS SAHAY DB VODSVTL S0 DAL

5&0:Y.



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 19 Question Id : 9126062879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

BGP0% DORS

Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data 1s required.

B0eeSeS: (D63 193 S 2.8 (H9). = 180 L IT @ hHien He> Boch

VTN ATOFOMT  QWNJDTAN. WD) AT0OT°R)
SHTNOW. BN ) (DIDTEN (%) 50 DIFTIR) VD)0
DOTEN ©9YTFAT BO® @ D JAT00wE). & T Badd

80O SrBGG8 Sr@en GHOTNOD (1) OB (4) SB5 OO
0NN BN DODE DODOB.

(@) 1DFY0 DTN BT YOO |DSIINO0 I ST(ha3) DT°§RDONS
N 272 (1) T HBoB0B.

(b) (%) 50 DaITGPH0 QD )OCDEL (DILI0 IT (€5 DTNV
N 23872 (2) e HOoB0AB.

(©) 1DF) 0 DITFGTH0 WD )ONFY (DdID*EN L II EOR) HDT5a)eD0N
oS D 2883 ErE HoUN0 TESFB D Barad (3) M
D000 &.

(d) 1D%)30 DT H0 D IOOBL (DT N LI EO 0T HO°R0
58 @998 BOTOF0 90BN QD B2 (4) M HOoWOAB.

What is the value of the integer w?

rgroso w aas) Qe Jdoch?

I.  w isa multiple of 3.

3 cﬁnsb rosdzzo w.

II. 420<w <425



Options :
1. %1
2. % 2
3.9 3
4 % 4

Question Number : 20 Question Id : 9126062880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

6ro Do DS

Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Maik choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

BeedeS: (063 (035w 2.8 1HF). o 8o L IT @ KHhen fey Dok
PdTEoren  ATOFOT WIFDTAD.  ADID  OTOTR),
SOTTNOD), D) )& [DIITED (D) K0 AIFFO ) RD,)0CHE
DOSren @HFAF B @ DK AT00Td. & JT B

808 SrOAE8 SrEen SHORN0N (1) HOGB (4) HBH HO
0NN B2V DONE DOHOA.

@) DFL0 DITTR0 FWJOLN (DIIFIO0 1 ST(ehadd DT SRSD0NS
D a2 (1) ™ Hd oA,

(b) D)5 DITTH0 DB JOOH (DRSO IT SP(€653) DTSS0S
D B2 (2) T Hdoiod.

(©) (DFYBY DTHFH0 D )OO (DII™ e I, I E HT°ERHDOD
@0 D w83 Era JoEN0 TEFS N zarad (3) M
Do 0Ak.

(d) (DF)YH AN QAT YOOI (DI en I 1T ) §@° H0™R0
5% @93y BT 0H0 @IDGEDHoNS D Barad (@) M HOoBHod.

What percentage of students in the college receive scholarships?

s’ ensidHade irommal :)mosgm Foeho Doch?

I. The total number of students in the colleze is 2000.

SvrTees’d 2wgo 3):;?13%:»9 (SEENY 2000.

II. The percentage of students that receive scholarships in the final year is
5% more than the students that receive scholarships in the first year.

206 VoIS 0o aiY” &SIV Tod %0 Vo Sofl DD

Do Bo T8eS° adTEddd0 Tod T°8 Doy 5% &y B.



Options :
1. % 1
o %2
. %3
4 v 4

Question Number : 21 Question Id : 9126062881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Sequence and Series

AR FGD — evA0gIT, Fevew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Artde: (DA (D ST ADYS dopsen M) @foren Ml &8
BHAOS AONSTFY), aFSNTION. DN (NS P
QDN T DDITO OB D0 ANS B2 DAY TV
D5 AODSTPVE 23050 0T 00T,

MOUSE : KPSTC : LIGHT :

(1) MGHEU (2) JTEIR (3) THEGR (4) MTHKV

Options :
1. % 1
2.2
. %3
4 % 4

Question Number : 22 Question Id : 9126062882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

8 a6d z2 12 -

(1) 72 (2) 84  (3) 9 (4) 108

Options :
1. % 1
o ® 2
3.3
4 % 4

Question Number : 23 Question Id : 9126062883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series
RBOIY GO — evRgaTe. Srew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DB (DS AD)S dopgen M) eforen Ml &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN T DDITO OB DO ANS BN DAY TR
D5 NONITVE 230150 0T P00,

4 7R D8k

(1)18 (2) 42 (3) 54 (4) 39

Options :
1.%1
o %2
. %3
4 v 4

Question Number : 24 Question Id : 9126062884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

123 - 169 :: 235

(1)5475 (2) 9525 (3) 12575 (4) 15625

Options :
1.%1
o %2
. %3
4 v 4

Question Number : 25 Question Id : 9126062885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

99 = 120 =: 48 :

(1)49 (2) 52 (3) 54 (4) 63

Options :
1. %1
o %2
. %3
4 v 4

Question Number : 26 Question Id : 9126062886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

63 249 U 35 ¢

(1)21 (2) 28 (3) 32 (4) 27

Options :
1.v1

2 ® o
3 ® 3
4 % 4

Question Number : 27 Question Id : 9126062887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN T DDITO OB DO ANS BN DAY TR
D5 NONITVE 230150 0T P00,

QPON : MLKJ :: XWVU :

(1)PQRS (2) SRPQ (3) TSRQ (4) USRQ
Options :
1.%1
o %2
3. v 3
4 % 4

Question Number : 28 Question Id : 9126062888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qrdded: (08 (HFSEr ADID dogen M) e@foren M a8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

House : Door :: Compound : ?

Qe 1 Se) : PO 7

(1) Gate (2) Fence (3) Foundation (4) Wall

25% oo S0l HTE Ae

Options :
1.v1

= B2
3 ® 3
4 % 4

Question Number : 29 Question Id : 9126062889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

Ze 2R = R D

(1)222 (2) 22 (3) 22222 (4)

(B
(2]

2

[E]
]

2
Options :
1.v1
o %2
3 % 3
4 % 4

Question Number : 30 Question Id : 9126062890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
B0 AANATY) FENT oW, (DS (DS 7O
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

25 5 37 i A8

(1)42 (2) 56 (3) 64 4) 63

Options :
1. % 1
o %2
3 ® 3
4 ¥ 4

Question Number : 31 Question Id : 9126062891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTDSW :

(1) FLASH (2) CROWD (3) JUDGE (4) SCANT

Options :
1.%1
o %2
3. v 3



4 % 4

Question Number : 32 Question Id : 9126062892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HONE : 1D OS HOFOIA HOOTDHW :

(1) ABC (2) PQR (3) MNP (4) XYZ

Options :
1. % 1
o %2
3.3
4 % 4

Question Number : 33 Question Id : 9126062893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HONE : 1D OS HOFOIA HOOTDSW :

1 o1 1 1
(1) 100 (2) 1000 G) 10000 (4) 1000000

Options :
1. % 1
2 2
3. % 3
4 % 4

Question Number : 34 Question Id : 9126062894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTDAW :

(1) 81 (2) o4 (3) 49 (4) 25

Options :
1.%1
o V2
3 ® 3
4 % 4

Question Number : 35 Question Id : 9126062895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HOE : 1991 OS HOFOIA HOOTDAW :

(1) D (2) H (3) L (4) P

Options :
1. % 1
o %2
3.3
4 % 4

Question Number : 36 Question Id : 9126062896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



i,
Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

B. X T B

(DT (2) U GV 4) W
Options :
1.%1
o %o
3. v 3
4 % 4

Question Number : 37 Question Id : 9126062897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoORE: (D3 1591 2.8 PDIBDS JONATY) I e3DT 0. €3
DOPATY) B0  HOOHWH  DIPTTOS FFPOD
000,

6 13; 35; 17, ?

(1)143 (2) 134 (3) 119 (4) 123

Options :
1.v1

o ® o
3 ® 3
4 % 4

Question Number : 38 Question Id : 9126062898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



i,
Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

3 5.9, 17, , 63,

(1)19 (2) 23 (3) 29 (4) 33
Options :
1. % 1
o %2
3 % 3
4 v 4

Question Number : 39 Question Id : 9126062899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3
DOPATY) B0  HOOHH  DIPTTOS FFPOD
JPO00A.

197 gpt L 47 98
&) 3 3 B G

3 _ 5 1 1
(1) 11 (2) 13 (3) lg (4) 15

Options :
1.%1
o %2
. %3
4 v 4

Question Number : 40 Question Id : 9126062900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

k2.5, 12, 27, . 121, 248,

(1)58 (2) 64 (3) 86 4) 112

Options :
1.v1

= B2
3 % 3
4 % 4

Question Number : 41 Question Id : 9126062901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3
DOPATY) B0  HOOHH  DIPTTOS FFPOD
P00 0A.

65. 61. 56. 50.

(1) 43 (2) 42 (3) 41 (4) 44

Options :
1. ¥ 1

= B2
3 ® 3
4 % 4

Question Number : 42 Question Id : 9126062902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

17, T, 5832 y Pl

(1)17 (2) 16 (3) 14 (4) 12

Options :
1.v1

= B2
3 ® 3
4 % 4

Question Number : 43 Question Id : 9126062903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoDRE : (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3
DOPATY)  HDI0D  HOOHH  IITPTTOS FFPOD
A oleInTole}

11, 27, 51, 123,

(1)173 (2) 163 (3) 171 4) 179

Options :
1. %1
o ® 2
3. v 3
4 % 4

Question Number : 44 Question Id : 9126062904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
000G,

99. 98, 94, 85, .44, 8

(1)32 (2) 36 (3) 48 (4) 69

Options :
1. % 1
o %2
3 ® 3
4 v 4

Question Number : 45 Question Id : 9126062905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3
DOPATY) B0  HOOHH  DIPTTOS FFPOD
000G,

3, 4. 45 & RS
(1) 67.5 (2) 65.5 (3) 60.5 (4) 62.5

Options :
1.v1

= B2
3 ® 3
4 % 4



Question Id : 9126062906 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 48)
Question Label | Comprehension

Problem Solving — Data Analysis
20y S — OT0F DBNED

Note: The following Bar Diagram shows the marks obtained by 5 students P. Q. R.
S. T in Physics (Ph) and Chemistry(Ch) out of possible 140 marks in each

subject. Based on the data answer questions 46. 47 and 48.

ATDD: & So0d sb:,& Do Srdd K)mvggaw P.Q.R,. S, T & £ &5a¢ w20 ( Ph)
&5°A Bad 3o ( Ch) S'a>x 140 060, 0L TP aﬂaa Sy o
DSTED RICETOW. & STroFo wrrdorr 46, 47. 48 DI 0D T

8:&505..

140

120

100

20

60

40

20

P Q R 5 T

Ph= Physics (a8 7700) Ch= Chemistry (6Jraid 7720)

Sub questions

Question Number : 46 Question Id : 9126062907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Marks obtained by S in chemistry 1s what percent of the total marks obtained

by all students in chemistry

0G0 DFEVLD SFADD FROS” SN 76, 0S" S L I TS
a&aa 50760 © T°B0 Dod?
(1) 25% (2) 30% (3) 32% (4) 35%

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 47 Question Id : 9126062908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the marks obtained by T in Physics were increased by 14% then what

would be his approximate new percentage i Physics when the maximum
marks i Physics were 1407

T 0 FAE R0 IS Ara) o 14% 2008 140 SH5d) 0L M
@S 5@ Qrdy) O FTBo ST Jod?
(1) 38% (2) 41% (3) 43% (4) 45%

Options :
1.%1
2. ¥z
3% 32
4 % 4

Question Number : 48 Question Id : 9126062909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the ratio between the total marks scored by Q and S together in

Chemustry to the total marks scored by P and R together in Physics?

Q. S © WGBS DD BIrADD FTRS® HD\D Awgo Ardywsr P . Ro
mg&é £9d FAE TR0 SD 2o HorE) VSR (o D dod?

(1) 17: 19 (2) 23:25

(3) 23121 (4) 17 23

Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Id : 9126062910 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)
Duestion Label : Comprehension



Problem Solving — Data Analysis
230y Fed — OT0F DBNED
Note: The pie chart given below shows the marks obtained by a student in 5
subjects out of total marks 900. Based on this data answer questions 49 to

33.

RSB & Sod BWND ‘D D@Heroes’ oo 900 60, 0L R0 28 JegBS 5
Diairees’ SV D)o DSTTen RBEEEaD. B wrrdorr 49 Aod

33 6% o D) 0D mmgﬂaﬂbasnﬁ.

Sub questions



Question Number : 49 Question Id : 9126062911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The marks obtained in Maths are

se3choes’ aﬂaa S0, e

(1) 220 (2) 200 (3) 180 (4) 210

Options :
1. %1
=2 ¥z
3% 3
4 = 4

Question Number : 50 Question Id : 9126062912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The total marks obtained m languages are

2iyeres’ ;ﬁ:‘l}aé 2000 AT e

(1) 280 (2) 260 (3) 275 (4) 295

Options :
1. %1
2. % 2
3.¥ 32
4 % 4

Question Number : 51 Question Id : 9126062913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The percentage of marks obtained in Maths. Physics and Chemistry among

the total marks in all the five subjects 1s

(E38065° A, A FROG AT, GIADD FR0S AT S A6 .0 S0

260 DRATS D B @ AP FTdo

(1) 68% (2) 642% (3) 792% (4) 6929%

Options :
1.%1
2. %2
3% 3
4 9 4

Question Number : 52 Question Id : 9126062914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio between the marks in languages and other subjects is

EEPDEDD DRAITOES’ D Hoedy) 0 Awdo RSE DARCITeS D BHrE)©
20EPAS (O DS

(1) 11:24 (2) 11125 (3) 15 23 (4) 15:21

Options :
1. %1
2. 2
5 %3
4. % 4

Question Number : 53 Question Id : 9126062915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The marks obtamed i English are

e50(j0e5” DD\ AE e

(1) 180 (2) 170 (3) 185 (4) 175

Options :
1.%1
2 %2
=% 3
4 v 4

Question Number : 54 Question Id : 9126062916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: In a group of 160 people. each person speaks Telugu or English or Tamul. 20
persons speak all the three languages. 100 persons speak at least two

languages of the three. Using this mmformation answer questions 54 and 55.

A 160 2008 JiHwe” DA 58 Bewrd S oo S8 STo JrdEiud.
DBE° 20 0B P QLA ArERRM. 100 2008 £ Bocd erHen
Ao, & Ddaorerdo wgrdorT 54 2odoiw 55 ‘Q%;luaa ASATETETTRD

TPOS006.

How many persons in the group speak exactly two languages of the three?

Doed V0B SIPE eriees” aJrf}()ejch Cocd) eraen ardcrudy?

(1) 65 (2) 80 3) 75 (4) 70

Options :



1. %
2 V2
3 ¥ 3
4 % 4

Question Number : 55 Question Id : 9126062917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: In a group of 160 people. each person speaks Telugu or English or Tamil. 20
persons speak all the three languages. 100 persons speak at least two

languages of the three. Using this information answer questions 54 and 55.

A 160 2008 D1we” DA 58 e T8 oo G5 SV ATLENR.
DB’ 20 B00B B PR AreERLM. 100 2008 £D0 Bot rEen
ARG, & Darerdo wordorr 54 Sodolw 35 ‘Q%ﬂluﬂa RATETTED

orodoc.

What percent of the persons who speak only one of the three languages

among all the persons in the group?

& S0 e A Edw0 8 2rd APOE (o Sy Fodo?

(1) 37 (2) 36 (3) 36%

—
oYy
S
[}

1
P | =

Options :
1. %1
2.2
= %3
4 v 4

Question Id : 9126062918 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (56 to 60)
Duestion Label : Comprehension

Problem Solving — Coding and Decoding Problems
220§ Fed — SAON, ASBON DN

Note: English alphabet 1s coded as follows:
(i) Each consonant is coded to its next 3™ consonant cyclically.
ie.BiscodedasF. Ftol]...... XtoB. ZtoD. ....

(11)Vowels A. E. I. O. U are coded to Vowelsas AtoU. EtoO. Itol. Oto

E.and U to A.

Using this coding pattern. answer the following question.

ArSD: w8 §ES° eoff 0560 & $08 Do AT E:

(1) 23 eI T ST Sy JPED T wSaorT §E BSoedtds.
wdmBOFmre. FOImr, ... X&OBm, ZS&Doe, ...

(mA. E. L O.UMJU&)A&JUW. ESOOrr, I I, O Er,
208050 U &0 A e §& Soed 9.
& & DBS rrdorT 8D HF) O DATT D0 AD0E.

Sub questions

Question Number : 56 Question Id : 9126062919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The word VOWEL is coded as

VOWEL & £& 50

(1) YEZON (2) YEZOQ (3) YEZOP (4) YEZOQ

Options :
1. %1
2. % 2
3.¥ 32
4 % 4

Question Number : 57 Question Id : 9126062920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The word CONSONANT i1s coded as

CONSONANT £ && Do

(1) GERWERURX (2) GFRWFRURX

(3) GESWESUSX (4) GETWETUTX

Options :
1.91
2. % 2
3% 3
4 % 4

Question Number : 58 Question Id : 9126062921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Code word for WORD 1s

WORD £ £& Do

(1) YEVH (2) WEVI (3) ZEVI] (4) ZEVH

Options :
1. %1
2. % 2
o= 3
4 9 4

Question Number : 59 Question Id : 9126062922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of letters that left fixed under this coding 15?

& §& %’.J:m:’:-e‘laeﬁ*" Dy LT TS wdmr & BSosereon?

(1) 1 (2) 2 (3) 3 (4) 4

Options :
1.91

o %2
3. %3
4. % 4

Question Number : 60 Question Id : 9126062923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Code word for ENGLISH is

ENGLISH £ §& D60

(1) ORKPIXL (2) ORKPIWL

(3) ORLPIXL (4) OSKPIWL

Options :
1. %1
=i
= %3
4. % 4

Question Number : 61 Question Id : 9126062924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220 Fas — AN, BFBOR DN

If IMMUNE is coded as JSSTRK then code word for MENU 1s

IMMUNE &0 JSSTRK r» §& &3 MENU % £& Do

(1)SRKT (2) KSTR (3) SKRT (4) TRSK

Options :
1.%1
2. %2
3.¢3
4. % 4

Question Number : 62 Question Id : 9126062925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBOR DN

AISLE 1s coded as 0910111213 then code for LESS 1s

AISLE 800910111213 r» £& &2 LESS € §& Do

(1)12131111 (2) 11131212

(3) 13121111 (4) 11121313

Options :
1. v 1

o %2
3. % 3
4. % 4

Question Number : 63 Question Id : 9126062926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
P20 Fed — SGoh, ASGOR D5

Note: Let n™ letter for 14<n<26 in the English alphabet be coded as (n-13)™ letter
and n™ letter for 1<n<13 be coded as (11—13_)“‘ letter. For this coding pattem.

answer the question.

ArSDd:  esoff WL6Irwe” 14<n<26 wdd n S Loy (n-13) S BLboS I
1<n<13 ©c®h n S @Lord) (n13) S WS Ar & Soberdod. & §&

HoHA3TAo) 0F) VO DATE W (Bo3oc.
Code word for GAME is

GAME & &€& Do

(1) NTRZ (2) TNZR (3) TNRZ (4) TNSZ

Options :
1. %1
2. ¥z
. %3
4 % 4

Question Number : 64 Question Id : 9126062927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
P20 Fed — SGoh, ASGOR D5

Note: Let n™ letter for 14<n<26 in the English alphabet be coded as (n-13)™ letter
and n™ letter for 1<n<13 be coded as (11—13_)“‘ letter. For this coding pattern.

answer the question.

ArSDd:  esoff WLOITrOS” 14<n<26 wdd n S Loy (n-13) S BLsoS I
1<n<13 ©c® n S @Lord) (n13) S WS Ar §& Saberdod. & §&
HoHA3TAo) DF) VO DIATE W (Bosoc.

Code word for ALERT 1s

ALERT & §¢& Do

(1) NYSEG (2) NYREH (3) NYREG (4) NYREF

Options :
1. % 1
o %2
3. ¥ 3
4 % 4

Question Number : 65 Question Id : 9126062928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
P20 Fed — SGoh, ASGOR D5

Note: Let n™ letter for 14<n<26 in the English alphabet be coded as (n-13)™ letter
and n™ letter for 1<n<13 be coded as (11—13_)“‘ letter. For this coding pattern.

answer the question.

ArSD:  esoff wESITrOeS” 14<n<26 wdd n S ®goedy (n-13) S 05508 A
1<n<13 ©c® n S @Lord) (n13) S WS Ar §& Saberdod. & §&
HoHA3TAo) DF) VO DIATE W (Bosoc.

Code word for VICTORY i1s

VICTORY & §& Do

(1) IVPGBEL (2) IVPBGEL
(3) IVPGBLE (4) IVPGBLM

Options :
1. ¥ 1

= B2
3 ® 3
4 % 4

Question Number : 66 Question Id : 9126062929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBOR DN

66. If a month starts with Monday then the date on which the Second Saturday

falls 15?7

w8 du VPTCed AnGLoNS 25 DTG0 D 3ES” Hivod?

(1) kK2 (2) 13 (3) 14 (4) 15

Options :
1. % 1
2.2
. %3
4 % 4

Question Number : 67 Question Id : 9126062930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220y Fes — SAON, AFBOA D3N

The angle between the two hands of a clock when it shows 5.12 hours?

28 fAoIrGoes® oo 5.12 Ho. mboaaa:mm (eo3rrdo Gody S0V
;‘.1::::}5 &0

(1) 76° (2) 80° (3) 84° (4) 86°

Options :
1. %1
o %D
3.3
4 % 4



Question Number : 68 Question Id : 9126062931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220§ Fed — FAON, BFBOR DO

At what time between 10 am and 11 am the angle between hands of a clock 1s

10
162 7
2

0
28 (G0060s” &. 10 - 11 dotrer B655 oD BHwene 206y Eeso 162% mw
DR (E0IG0eS” DO Do

(1) 10.25 am (2) 10.30 am (3) 10.40 am (4) 10.45 am
e. 10.25 e. 10.30 &. 1040 e. 1045

Options :
1.v1

o %2
3. %3
4, % 4

Question Number : 69 Question Id : 9126062932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220y Fas — AN, AFBOR DO zeN

If A 1s the brother of the son of B’s son. how 1s A related to B?

B 58006000 £8r0R0%0 A DSHES. B & A 20206530007

(1) Uncle (2) Grand Son (3) Son (4) Brother
AT SR S Febuleblal] DB

Options :



1. % 1
2 V2
3 % 3
4 % 4

Question Number : 70 Question Id : 9126062933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
22y Fed — FAON, BFAON HD5EN

A loan application was submitted at a bank counter on a certain day of the
week. After verification of the details the application was forwarded to the
Manager on the next day. The Manager after scrutiny sent the application the
same day to Head Office. The next 2 days were bank holidays and the loan
was sanctioned next day which was Monday. Which day of the week was the
application submitted?

28 518 0N EW0 TG0 w8 Bwd erfo GEIPRL FGoR WO
DITVR VEAETDD SEOTS GO GHE Bz D whHSBS Doderdod.
03 T2 e A0 GO TE DL Do), BT A Bocd Baren

EF(OS) S0 VYY) STDE0 DY & 2060 B )y DOLTT0R. WYy OB

Ber T 205760 oS 6arR BRALJ) Ber D&?

(1) Monday (2) Tuesday (3) Thursday (4) Friday
Db S0T°G0o S0or¥ TG0 DTG0 BETG0

Options :

1. %1

= B2



3.3
4 ® 4

Question Number : 71 Question Id : 9126062934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220 Fed — SAON, AFAON HNHFEN

A local train leaves the station at regular intervals of 45 minutes. Arriving at
the station a person realized that the last train left 15 minutes back and next

train is at 8.45 am. When did the person arrive at the station?

28 S°€S B 28 D 0 DA 45 DAVIPVL HAVAB. 28 DHE DAD
SB 008 e gen 15 JAwiry Jwoed J'awosd SHTSS &. 845 ©

SE0e0B008D) 3dHod. & ;35% .’gm& ér:)‘)é D030 doh?

(1) 7.45 am (2) 8.00 am (3) 8.15 am (4) 8.30 am

&. 7.45 e. 8.00 &. 8.15 e. 8.30

Options :
1. % 1
o %2
2. ¥ 3
4 % 4

Question Number : 72 Question Id : 9126062935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBOR DN

Six friends A. B. C. D. E and F sit around a circle facing the center such that
(1) A 1s between C and E: (11) E 1s between D and F: (ii1) B is between C and

F and to the left of C. Who 1s sitting between A and B?

A.B.C.D.E. F 3 6 2008 ddoen Hya°se60es” Sog oo (1) C. E
O G Al (1) D.F o 064 E: (m)C.Feo Hoagrdr C £ i ™ B
€0GeD SrENT M. A, B @ D06 SN0 B3O

(1) C (2)D (3) E (4) F

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 73 Question Id : 9126062936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fed — FAON, BFBOR DNDO5EN

Let the symbols a, B,y,and § denote the arithmetic operations of addition.

subtraction. multiplication and division respectively. Then.

a, B,y,and § e SEODT STAS. BHDS. (esedo. 2rr5iFEo @os
DBSADOR AFLROT*) AT 0C. W

100@1085815y5 =

(1) 27 (2) 52 (3) 68 (4) 124
Options :
1.v1
o %2
3 %3
4 % 4

Question Number : 74 Question Id : 9126062937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBON DN

For two non-zero numbers m and n define * by:

1, 1 PSS DoV * A $o& Desonr JELD:

m*n=—+ 1, Then D) N

mn
2018

5 (2 -

k=1

(1) 1008 X 2018 (2) 1009 X 2019
(3) 2017 X 2018 (4) 2018 X 2019

Options :
1. %1
2. ¥z
3. %3
4 % 4

Question Number : 75 Question Id : 9126062938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBON DN

For integers x and y define * by

JPTUOSTAL X, Y O * A 08 DGt DEIR:

x*y=x+y)—-(x—y)and xAy=(x+y)’ +(x—y)?

Then e (3 +5) * (1A2) =

(1) 13X 240 (2) 12 X 260 (3) 12 X 280 (4) 13 X 480

Options :
1. %1
= %z
3% 32
4 v 4

Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9126062939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

evogricied Spmgﬁa

(am)n = am.n = m =

(1) (n=1)" @) n"! (3) = 4) na-i

Options :
1. %1
2. % 2
3% 3
4. ¥ 4

Question Number : 77 Question Id : 9126062940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eso&ricies Epmgﬁa

2

(1) 6 (2) 4 3) -6 (4) -2

Options :
1.9 1

o %2
3. % 3
4. % 4

Question Number : 78 Question Id : 9126062941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00&reded aomgéa

20 men can do a piece of work in 10 days working 6 hours a day. How many

men are needed to complete double the work in 8 days working 10 hours a day?

20 008 000D 28 HAD BerdH 6 tfotren 3P 10 Bererds
LDrOBaLAO. B2 10 dotren 3T , 3 DS 080z) DAD 8 Fareres

QFOBOINVLIL DoBdood e9ddG0?

(1) 25 (2) 26 (3) 28 (4) 30

Options :
1. %1
2 % 2
3% 3
4 v 4

Question Number : 79 Question Id : 9126062942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

es0&reded &m%a

If the ratio of the areas of two squares 1s 4:7 then the ratio of the perimeters of
the squares 1s?

ot eusgre PErerio S 4:7 ewand 78 wotnSode JNG?

(1) 4:7 (2) 8: 47 (3) V7 :2 4) 2:7

Options :
1. %1
2 %
3% 3
4 v 4



Question Number : 80 Question Id : 9126062943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00& A3 &m%a

x=5-2V6 = x——=
Vx

(1) 2v3 (2) 242 (3) -2v/3 (4) -24/2

Options :
1. %1
2. % 2
3% 3
4. ¥ 4

Question Number : 81 Question Id : 9126062944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Src3ed &mgﬁa

Bork == 0 ifa= W—%tben, a’ + 3a =

k =0, = W—% e900B. a® + 3a =

k—1 kZ—1 — k
W 2 (2) = @) —= @ 7

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 82 Question Id : 9126062945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

eogrcdesd avm%a

Which of the following numbers 1s divisible by 117
S0H xma;ée_;esﬁ DA 11 B 2rfoderctadn?

(1) 1111111 (2} 9999999 (3) 95999 (4) 999999

Options :
1. %1
2 %z
5 %3
4 9 4

Question Number : 83 Question Id : 9126062946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d .Ehmg?se:o

What is the number in the units place of (359)7?

(359)%? &°D e F50e5"D 05 DA?

1)

(1) 1 (2) 3 (

Options :
1. %1
2 %z
3% 3
4 9 4

) 7 (4) 9

Question Number : 84 Question Id : 9126062947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

eo0SKeded aom%a

The gcd of two numbers 1s 85 and their sum 1s 1020. One such pair of the

numbers 1s

ot Voo (fre 85, 7¢d 2wedo1020.e9e7083 28 Qogrgaiorfyo

(1) 425,595 (2) 500,520

(3) 510,510 (4) 550,650
Options :
1.¥1
2. %2
3. %3
4 % 4

Question Number : 85 Question Id : 9126062948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Sreded &m%a

What 1s smallest number of 5 digits which 1s divisible by 12, 15, 20 and 357

12,15, 20 &08030 35 o8 erfoderc 833 5 @080 Doadg DE?

(1) 10070 (2) 10080 (3) 10090 (4) 10110

Options :
1. %1
=2 ¥z
3 %3
4 % 4

Question Number : 86 Question Id : 9126062949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00grcied .3*’:.13269

3 2575757...... =2 ocd(a,b)=1 2 ab=

3.2575757...... =2 6der (a,b)=1 = ab=

(L) 12 (2) 447 (3) 2235 (4) 3257

Options :
1.91

o %2
3. %3
4. % 4

Question Number : 87 Question Id : 9126062950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eoEreded 3‘&3%@

25x

< . o s
If = ™ of a number x is subtracted from . the result 1s 320. Then x =

X G308, gb SO % J00& SdDaDT He%o 320. RN X =

(1) 512 (2) 1024 (3) 2048 (4) 4096

Options :
1.% 1
2. %2
3.¥ 32
4. % 4

Question Number : 88 Question Id : 9126062951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

o0& Keded &mg{)a

The 1 . T 1 3 B
1€ 1laregcest amon = == (Em = I
= g 2° 23> 8 16

11

1 9 .
> o 5 T 9F 60036

16

o | w

(1) 5 @ = 3 = (4) =

Options :
1. %1
2 % 2
3% 3
4 9 4

Question Number : 89 Question Id : 9126062952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

ev0&Ac3ed Somgéa

If a =311, b= V23 and c= /119 then the decreasing order of a, b, ¢ 1s

a=3V11, b= V23, c= Y119 @0nd a, b, ¢ © e9580e g0

(1) a=b>c (2) b=a>c (3) a>c>b (4) c>b>a

Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 90 Question Id : 9126062953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
oS3 &m%a

4%% of 5%% of ¥=962 = x =
X CI0E) 520, g, dlos —067 = x—
7 3

(1) 2100000 (2) 420000 (3) 630000 (4) 840000

Options :
1. %1
2. ¥z
3 % 3
4 % 4

Question Number : 91 Question Id : 9126062954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00&rcies &m%a

Anil, Sunil and Akhil are trading of same goods. Anil sells his goods 25%
cheaper than Sunil and 25% costlier than Akhil. Then Akhil’s sells goods
cheaper than Sunil by percentage of

29065, RIS BT NES 0 28 BERVD HRDVL VoeoBod TG0
5@:}1&3. 20e5 83)  25% BSOS, e9g)e5 SJ) 25% LD SOD 905
SHRDOR) AL BT . WDYED 2065 DG 1Y e9ded BG6 HRDO GG
Does F°e50 e‘_‘éé.)b&ﬁém

(1) 40% (2) 33&% (3) 30% 4) 25%

Options :



1.¥1
2 %2
3. % 3
4. % 4

Question Number : 92 Question Id : 9126062955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eo0Ereded aomg{)a

If the cost price of 11 mangoes 1s equal to the selling price of 9 mangoes then
percentage of profit 1s

11 B0°0C 0¥y §3) B6 0J8 9 G DF) 9:20) S0 DO VAFIB

erST S0

1)+ (2) 115 (3) 9= (4) 225

Options :
1. %1
2. = 2
3% 3
4 9 4

Question Number : 93 Question Id : 9126062956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00EHedh &m%é

Mr. A has purchased a property and sold % of the property with 10% profit. If

the profit received through this sale i1s Rs. 60000. the cost price of the total

property (in rupees) is

208 32D A § woces’ % S Hodd Ay 10% ererds eady) S/, &
@) S0 Tro° JoBD erzo 60000 crdrabeond. dudo e §) 66
(Graroes”)

(1) 1200000 (2) 900000 (3) 7500000 (4) 600000

Options :
1. %1
2. ¥z
. %3
4 % 4

Question Number : 94 Question Id : 9126062957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

eosrieded avmg?sa

A. B entered into a business with a capital of Rs. 9 lakh. Rs. 12 lakh
respectively. After 4 months C has joined the business with a capital of
Rs. 15 lakh then the share of ‘C” in a profit of Rs. 6.975 lakh at the end of the
year 1s

A. B e 360 6. 9 0gen. 6. 12 05u rodded w8 Juardos’s

DD30D8. 4 DUV DTG 6r.15 VEL ArVEIoS C TBS DM,

QoSBT 080D 6. 6.975 vw ergoss’ C Toer

(1) 257500 (2) 232500 (3) 225000 (4) 205000

Options :
1.%1
o %2
3. v 3
4 % 4

Question Number : 95 Question Id : 9126062958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

0008 reded aom%e:s

A, B and C entered mto a business partnership. A got % of the profit while B

and C distributed the remaining profit equally. If C got Rs. 4000 less than A,

their total profit was

A, B, C e 2.8 &) & To§r6oeS"8 HDH0DB. ergiod” % S ertio A Dot
iz ererd) B, C G davore 0ocoE8. € Todd erdfo A 83y .

4000 559 & @00, o &rdo

(1) 36000 (2) 40000 (3) 42000 (4) 44500

Options :
1.% 1
2.2
3% 3
4. % 4

Question Number : 96 Question Id : 9126062959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

eoSreded &m%a

Two taps A and B can independently fill a tank in 30 minutes and 45 minutes
respectively and a pump C can empty full tank in 20 minutes. If all are opened
for 10 minutes and the pump C is closed. then the time required to fill the tank

(1n minutes) 1s?

Socw> deren A, B DADdrr ws B Scvorr 30 ddodren. 45 e
DodAEOR) ST Do &) & FBI 2.8 Do C. 20 Aoare” e
BaDALE. Aot 230 10 Dare Jrew 38D, e C D JrdDD
S8 Docrrsd Dew dAvawo (ADore’).

- 5 951 1 4\ 2
(1) 17 (2) 253 3) 155 4) 27

Options :
1. % 1
o ® 2
3 ® 3
4 v 4

Question Number : 97 Question Id : 9126062960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Ereded .av;:o%a

Two pipes A and B can fill a tank in 24 minutes and 30 minutes respectively.
Both pipes are opened simultaneously but after 5 minutes A 1s turned off. After

how much more time will the tank be filled?

Boc P A, B en 8%}:) HEORT 24 DoIrew, 30 IS DodrOD).
288 BBDD €3 Bodot3eSS B D 5 Dare ¢dddTre Qurdadd.  esp Jod

RS FE dociiecs?
(1) 15 mins (2) 18 mins (3) 21 mins (4) 24 mins

15 18D 21 243

Options :
1.v1
2 = Z
3% 3
4 % 4

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates.

Question Number : 98 Question Id : 9126062961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00SHeded aom%a

A cyclist travelling at 30 kmph takes 3 hrs more to cover distance between two
cities A and B than another cyclist travelling at 40 kmph. What is the distance

between A and B?

ot dtforen A, B © d¢sy Sroed) Qr8Baheds ot 40 8. . Sefod
DAITFBRODY 8 P HDD DADo £, B 30 8. . Defod
DOIrEdOR) 0F'E PR ARODD Do 3 Hotren I . A, B © a0csy
Ardo doed?

(1) 360 km (2) 350 km (3) 320 km (4) 300 km

360 &.20. 350 &.90. 320 &.20. 300 &.90.

Options :
1.91

o %2
3. % 3
4. % 4

Question Number : 99 Question Id : 9126062962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

The distance between two cities 1s 30 km. If two persons A and B travel in the
opposite directions starting from the two cities, they meet after 2 hours. If they
start from the same city and travel in same direction they meet after 3 hours. If
A i1s faster than B the speed of A 1s

Socd drfore ey Gordo 30 &5, PR HSoen A, B & Toch driore voc
SItElel &%e5° 0B Toc ot Sdars S 6. ABET 2.8 Jrido

008 220HeVEB 2.8 &%e5° HOrEI0E S fotie BT geinE 8.

B s3°) A Do 289 28 A Ddfo

(1) 10 kmph (2) 12% kmph
oty 10 &.5. oty 12% a5y,
(3) 15 kmph (4) 16% kmph
ot 15 8.5, 5082%> 16% S
Options :
1% 1
2.2
3. % 3
4 % 4

Question Number : 100 Question Id : 9126062963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

Of the two workers A works twice as fast as B. If A and B work together they
require 12 days to complete a piece of work. How many days are needed if A

alone works to complete the same work.

B £5) A Goc Bew Srfore 2 dobroc. A B dgdr £83 ws 5D 0
BoDEeAS 12 Feren DEOS00H. 03 DAY A 28 E PPOBoIrOD) Dy

Beren) HEIBI0E?

(1) 15 (2) 16 (3) 18 (4) 20

Options :
1.%1
= %z
3.¢3
4. % 4

Question Number : 101 Question Id : 9126062964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

A. B and C can independently complete a work m 10, 15 and 20 days
respectively. If they start the work together and A leaves after 2 days and B

leaves after 4 days the number of days required for the completion of work 1s

A. B. C o0 25dogdorr 8 DA S0 10. 15, 20 Sareds’ 1pesaincodd.
006060 £9 DA FGoDoDD STegdd 2 Pareod A 2odoiw 4 Barow B D

200c PEVADLONS &5 DA RPBBoHEES HE Farer Doady

(1) 13% (2) 123 (3) 11% (4) 1{;%

Options :
1. %1
= %z
3% 32
4 v 4

Question Number : 102 Question Id : 9126062965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3ed &m%@

An equilateral triangle 1s mscribed in a circle of 462 sq.cms. The perimeter (in

cms) of the triangle 1s

462 ©5.290.80. DTV (O y085” 208 DIVETITN B0 WoBDDOWILIGID.
I &8 Bz tﬁ}?gﬁﬁ(:ﬁo.b).ﬂﬁs)

(1) 72 (2) 84 (3) 63 (4) 126
Options :
1. %1
2. %2



3.¢3
4. % 4

Question Number : 103 Question Id : 9126062966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d &m%a

The perimeter of rhombus 1s 68 meters and one of its diagonals i1s 16 meters.

The area of the rthombus 1s (in sq.ms.)

28 DABENRL) BTV 68 Db BA% T BE), & DEo TED)

16 &.e0 900 €5 QDN PFLo (8. . ees®)

(1) 220 (2) 240 (3) 280 (4) 3200

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 104 Question Id : 9126062967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Srieded bm%a

Three solid metal cubes whose sides are 1n the ratio 3:4:5 are melted and made

into a single cube. If length of the diagonal of this single cube is 483 meters

then the side of the smallest of the three cubes 1s?

3:4:5 D33 oo $9 rcde Y DTV 8M0D DBBD
w88 oy SOITEBI . &3 DD Dedo Jreed) 48V3 .ew
90BN DG Bord TPV’ DD GaND DD Worsd

(1)24m (2) 22 m (3) 20m (4) 18 m

24 &». 22 &, 20 &o. 18 &o.

Options :
1.¥1

= B2
3 ® 3
4 % 4

Question Number : 105 Question Id : 9126062968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgaa

A solid cylinder of diameter 24 cm and height 10 cm 1s melted and cost into
spheres of diameter 12 cm each. What will be the number of solid spheres

made

24 20.00. R0, 10 0.0, DB (o) 20D PrID) €6AD 28 S 12 Do..

TR0 (0 HemenrT Soircd GRS, ‘&}r.i;)ci A e SEEN
(1) 5 (2) 6 (3) 7 (4) 8
Options :

1.91

o % o

3. % 3
4. % 4

Question Number : 106 Question Id : 9126062969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Erie3es aoaogaa

The base and height of a triangle are in the ratio 4:3 and its area i1s 54 sq. cm.
What is 1ts height?
4:3 i8S° 3D dgow SO Jzvay pTuge 4 €5.20.80. e900S ¢3

S2027Y) B0 dodd?

(1) 9 cm (2) 6 cm (3) Scm (4) 7cm
9 230.80. 6 20.20. 8 o.&n. 7 0.9,
Options :
1.9 1

2 ® 2



3. %3
4. % 4

Question Number : 107 Question Id : 9126062970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d aemgaa

Area of the rhombus whose diagonals are 36 cm and 20cm

Degre Jcapew 36 D0.aD.. 20 20.20. w0 SYIB DABEN Y DTV

(1) 480 sq cm (2) 360 sqcm (3) 200 sq cm (4) 320 sqcm

480 <5.230.90. 360 ¢5.230.90. 200 5. 20.5. 320 5. 20.9.

Options :
1. %1
2. ¥z
3% 3
4 % 4

Question Number : 108 Question Id : 9126062971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d &mg{}a

What 1s the cost of fencing around a circular field of diameter 28 meters at the

rate of Rs. 10 per meter?

28 &G TR0 ED) BT SEEG0 Tb® oD DaDEEIS 28 LK 6.
10 573 wciy 2oy Jod?

(1) ¥ 880 2) I440 (3) T 660 (4) 550

Options :
1.v1



2 %2
3. %3
4. % 4

Question Number : 109 Question Id : 9126062972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHEIeh &m%a

I£f110115+111015+11115,+1001,= X then X=
11011,+111015+1111,+10015= X;p wonad X=

(1) 80 (2) 120 (3) 124 (4) 132

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 110 Question Id : 9126062973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00S K3 &m%a

If k;, k> are natural numbers such that

(1) 2%1]10!but 2%+ } 10! and (ii) 5%2]|10! but 5%2% } 10! then

(1) 2%1|10!s=D 2k1*1 } 10! Sododx (i) 5%2]10! 5= 5%2*1 } 10! HARD] DEGOTT
€0t DT DoV ki, Ky €0 eI

{1] .Iﬂ'-l — kz (2) kl = kz (3] kl = Jrfg (4] II{j_ :kz + 3

Options :
1. %1
2. %2



3.3
4 ® 4

Question Number : 111 Question Id : 9126062974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA, wlsaaéoﬁo avmgsa

The contra positive of the statement:

“Ifina AABC, AB=ACthen LB=1LC"1s

308 DIBT DS DASBBI

AABC &5° AB = AC®aw@ LB = LC” is

(1) IfinaAABC, LB # LCthen AB = AC

AABC &’ LB # LC ®and AB + AC
(2) Ifina AABC, AB # ACthen LB # LC
AABC &° AB # AC ®and LB # LC
(3) Ifina AABC, LB = LCthen AB = AC
AABC &° LB = LC ewo0é AB = AC
(4) IfmmaAABC, LB # LCthen AB = AC

AABCe® LB # LC @anad AB = AC



Options :
1.9 1

o %2
3. %3
4. % 4

Question Number : 112 Question Id : 9126062975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

b&am.agaﬁkﬁaéwwg§a

Which of the following is equivalent to the statement p V [~ (g A~ 1)]

& 08 o8S” PIBIo PV [~ (g A~ 1)] S oo

(1) [pv(~q)lvr 2) [pA@)]v~T

3) [pPA(~q@]V(~T) 4) [pvalv(~r)

Options :
1.1

o %2
3. % 3
4. % 4

Question Number : 113 Question Id : 9126062976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

L. = {x ER itk ﬂ:i} forn=1.2.3......... then
n T
[ %=
n=1
= Fr S AR RO I, =[xER:—£-f:x-=:i} Dlobels !
n n

(1=
n=1
(1) {0} (2) @ 3) {1} 4) (xeR:0<x<1}

Options :
1.v1

o ® 2
3. % 3
4. % 4

Question Number : 114 Question Id : 9126062977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEoD. az.v?g:)aéaoﬁ: évmgs@

If f(x) = —— then L=

fla+1)

Y. n fla) _
f) = 7 wondpyd fla+1)

a’ a’ 2 3
(1) il (3) f(a®) 4 f(a®)
Options :
1.¥1
o ® 2
3. ¢ 3
4 % 4

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 115 Question Id : 9126062978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DE 0., aav?gaae‘:aoﬁ: avmgsa

f{x)= 2" — ¥ &

f(x) = x% — |x] @38

(1) An even function (2) An odd function
208 %8 HAvAD 208 82 HIoobo
(3) Not a function (4) Neither even nor odd function
HB000 S %8 HAvabo SRy 55 HAvaBo 5@
Options :
1.1
2 % 2
2 % 3
4. % 4

Question Number : 116 Question Id : 9126062979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEaD., w@aéaﬁ: &mgﬁa

41. The equation of the straight line having intercepts a and b on the axes such
that a+b= 5 and ab=6 1s

a, b e JardE wrpropd woddotre WaNdINYE ath= 5 Jodaiw ab=6

o) 2ETBar HAESH0

(1) 2x—3y=6 (2) 2x+3y=60r3x+2y=6
(3) 3x—2y =6 (4) 2y —3x=6

Options :

1. %1

2 ¥z

3. % 3

4. ® 4

Question Number : 117 Question Id : 9126062980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}gaaém &mgse:s

The equation of the straight line passing through (4. 2) and parallel to the line
x+2y—5=01s
Do) (4. 2) thoee Vd> x4+ 2y — 5 =0 D B £ HArosdorr &ol

HETS® PDALESH0

(1) 2x+y=28 2) x+2y=6

(3) x+2y=28 4) 2x+y=6



Options :
1. %1
2. %2
3.¢3
4 % 4

Question Number : 118 Question Id : 9126062981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE 0D, wsi)aéoﬁ: avmgs@

cos1%.co0s2°. ............ cos 1799 =

s 2) 0 (3) 1 4) 5

Options :
1.%1
2. ¥z
3% 3
4. % 4

Question Number : 119 Question Id : 9126062982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. wsaaéom &m%@

sin420° cos390° + cos(—300°) sin(330°) =

(1) 0 (2) -1 (3) 1 (4) B
Options :
1.¥ 1

2% 2



3. %3
4. % 4

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates.

Question Number : 120 Question Id : 9126062983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. aav?gaae‘:aom &m%@

cos & 1+sin 8
1+sin 8 cos &

(1) Z2cosec@ (2) 2cosec?8 (3) 2sec@ (4) 2sec’@

Options :
1. %1
2. % 2
3.¥ 32
4 % 4

Question Number : 121 Question Id : 9126062984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}g:bém &m%@

A person walking towards the foot of the mountain observes the angle of
elevation of its peak to the 30° and 60° respectively. If the distance between

two points A. B of observation is v3 km then the height of the mountain in

meters is

208 DO S0 DY am@ﬂ;ﬁég 0o Docosnew A. B o oo es DOS
FDEY $gf)§5mum 30%, 60° e B30 Doy, Docdopew A.Bwo Sualfablely
V3 $.80 a0 HOLB) B0 o',

(1) 2500 (2) 2000 (3) 1500 (4) 1250

Options :
1.%1
= %z
3.¢3
4 % 4

Question Number : 122 Question Id : 9126062985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w5:)ae§aﬁ> &mgse:s

x+=-=5 = x* +i4 ==
X X
€1) 527 (2) 623 (3) 625 (4) 5372
Options :
1.v¥1

2. %2



3 %3
4 ® 4

Question Number : 123 Question Id : 9126062986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DR oW, DS &mgﬁa
For two polynomuals p(x) and q(x) the highest common factor is (x — 2) and
the least common multiple is x> — 9x2 + 26x — 24. If p(x) = x> — 6x + 8

then g(x) =

DDA exudEen p(x). q(x) o (B8R .3°;§J°.'<>5 erago (x —2) SHodain €N
Feagd doedaso x° — 9x? + 26x — 24. p(x) = x* — 6x + 8 @B q(x) =

(1) x>+5x+6 (2) x2—5x—6

(3) x*—-5x+6 (4) x> —2x+3
Options :
1.%1
o %2
3. v 3
4 % 4

Question Number : 124 Question Id : 9126062987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

If the polynomial x® + 10x% + ax + b is exactly divisible by (x — 1) and

(x+2)thena—b=

x3+10x% +ax + b @3 977008 (x—1) 28w (x + 2) od Q3
erfoduad a— b=

(1)9 (2) -9 3) -25 (4) 25

Options :
1. %1
2 ® 2
3. %3
4 v 4

Question Number : 125 Question Id : 9126062988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}g:bém éumgse:s

If a polynomial p(x) leaves remainders 6 and 4 respectively when divided by
(x—2) and (x—3) then the remainders when p(x) 1s divided by
(x* —5x + 6) will be

08 VDS p(x) & (x—2) 8o (x — 3) B eHoIYD W&
SEHM™ 6 060k 4 00 Fomr DAdiwed. p(x) o (x2—5x+6) &
Wﬁaﬂé@b@ 551'3'3 300

(1) 2x + 6 (2) —2x—10 (3) —2x+10  (4) 2x+ 10

Options :
1.% 1
= %z
3.¢3
4 % 4

Question Number : 126 Question Id : 9126062989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}gaaém &mgs@

The sum of a two digit number and the number obtained by reversing the order

of its digits 1s 121 and the digits differ by 3. The largest of such numbers 1s

2.8 CotlosSL o3y . oS woTwd AEHDoLT SBy Dopw oo 121

©0B°E &5 R[S D WoSL Hedo 3. werotd VoY’ WS DG

(1) 47 (2) 74 (3) 63 (4) 52
Options :
1.%1
o V2
3 % 3
4 ® 4

Question Number : 127 Question Id : 9126062990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA, aa'*ls:béoﬁo F0G S

)

If— + 2 =2and— -2 = 1thenx:y=

x+y x+y x—y

3 42 2580 —— - = 1ewond x:y=
x+y x+y x—=y
(1) 3:2 2) 2:5 (3) 5:1 (4) 94
Options :
1. %1
o ® 2

3. ¥ 3



4. % 4

Question Number : 128 Question Id : 9126062991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Yout) wsi)aéoﬁn avmgs@

th - A ; ; = .
The 1 term of an arithmetic PIogression whose sum of first n terms is

2n + 3n?is

e 1 dDorw 2odo 2n + 3n° WODEOE 8 90SBAS D 1 D Do

(1) 7r-1 (2) 6rt5 (3) 61-1 (4) 7rt5

Options :
1. %1
2. %2
3.¥ 32
4. % 4

Question Number : 129 Question Id : 9126062992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

D& o, w‘gmém avmga@

- th i ; . 3 :
If the 6 and 13" terms of a geometric progression are 24 and — respectively.
- _}qm e
then 1ts 25 term 1s

3
208 DRI’ D 6 S5 DSo. 13 S5 Do SGHM™ 24 8o = wond 25 5

D50

1)3x2”" ) 3x27% @ 3x™ 4) 3X22
Options :
1. % 1
2. ¥ 2

3. ¥ 3
4 % 4

Question Number : 130 Question Id : 9126062993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}s&:@aﬁo &mgﬁa

The coefficient of x™ 2 in the product (x + 1)(x + 2)(x + 3) ... (x + n) is

vo (x + 1)(x +2)(x +3) ... (x +n) & x"! Aoesgo

nin+i) —n(n+1) . hin—1) —n(n—1)
(1) =2 @ =5 3= (4) =&
Options :
1.9 1
o w2

3 % 3



4. % 4

Question Number : 131 Question Id : 9126062994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Yout) wsi)aéoﬁn avmgs@

Tl
If the coefficients of x7 and x® are equal in the expansion of (3 + %) then

n:

I
(3 - %) Doeees’ x7. x° Aeasten DATIDS WIH o n =

(1) 42 (2) 48 (3) 55 (4) 58

Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 132 Question Id : 9126062995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEaD. a:g:béaﬁa &m%@

a b? e —_— . TS
If [(:3 ] - L 3 0 where a. b. ¢ are real numbers of which b<0 then

3a+b+c=

a. b. ¢ &0 70D Roagen. T°8e¢5° b<0 evoyyedr [a b? ] =

] 03

3a+b+c=

(1) 0 {2) 1 (3) -1 (4) 2

Options :
1.%1
o V2
3 % 3
4 % 4

Question Number : 133 Question Id : 9126062996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA, w}g:bém: &mgﬁa

If A and B are matrices such that AB= B and BA= A, then AXB*=

A B o3 argsen AB=B. BA= A exabeare €ofl ey AB=

(1) 2AB (2) 2BA (3) A+B (4) AB

Options :
1. % 1
o %2
2. ¥ 3
4 % 4



Question Number : 134 Question Id : 9126062997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. ws&)aéoﬁ: i%;:ugs@

2 2n_gh
llllln_,m m =

(1)1 2).2 (3) =l (4) -2

Options :
1.%1
2 %2
3.¥'3
4 % 4

Question Number : 135 Question Id : 9126062998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEOD. w}s&be‘.’éoﬁa &;:ugs@

(14+n)7+(24n)" + ..o H(T4n)
1000 +n7

;¢ o

(1) 0 @) 1 G) 7 (4) o0

Options :
1. %1
2.2
3.¥3
4. % 4



Question Number : 136 Question Id : 9126062999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEaD. w}gaaécﬁo &m%a

As given in the diagram. in AABC, 2B > 90° and AD is perpendicular to BC.

Then b’=

D X B a C
26085° 2D \3&0 AABC & £B > 90°. AD 36 BC & eowo. iy b'=

(1) a®+c?—-2ax (2) a® + c? + 2ax

(3) a’+c*+ax @) a®? 4+ c? —ax
Options :
1. % 1
2 V2
3 % 3
4 % 4

Question Number : 137 Question Id : 9126063000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaaém &mgse:s

If the angles of a quadrilateral are in the ratio 3:4:5:6 then the smallest of these
angles 1s

28 BB0ENR ETren 3:4:5:6 N BS° G0l TS wd Dy Ero

(1) 30° (2) 90° (3) 60° (4) 45°
Options :
1. % 1
o ® 2
3. 9 3
4, % 4

Question Number : 138 Question Id : 9126063001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA, w}gaaém aumgse:s

If a chord of a circle of radius 10cm subtends an angle 60° at the center of the

circle, then the length of the chord (in centimeters) is

10 20.80. T§FGo (o) 28 2yBD @[S Sogo 3¢ 60” E'rao B0t & 227
Fe (250.20. )

(1) 10 (2) 10v3 (3)

Options :



1.1
o 2
3 ¥ 3
4 % 4

Question Number : 139 Question Id : 9126063002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w&&aéaﬁ: &m%@

A pomnt (x, y) 1s equidistant from the points (7. 1) and (3. 5). Then x — y =

Docwnen (7, 1). (3. 3) wdod PAFIGTCS” 28 Do)  (x,y) Sod.

e:r‘.;_'};}c:ax—yz
(1) 3 (2) 4 (3) 3 (4) 2

Options :
1.%1
2. %2
3% 3
4 v 4

Question Number : 140 Question Id : 9126063003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}g:bém &mgse:s

The vertices of AABC are A(4. 2). B(6. 5) and C(1. 4). The median through A

meets BC at D. Then AD=

AABC & %Eﬂw A(4.2). B(6.5).C(1. 4). A oo ﬁ&mqna g BCDD

DG SLR08. WYY AD’=

(1) 13 @) = (3) 17 O

Options :
1. %1
=i
3. %3
4 % 4

Question Number : 141 Question Id : 9126063004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&oaassw@ av:.ugs@

The arithmetic mean of 287. 292, 297. 302. ...... 447 1s

287.292. 297, 302. ...... 447 © @90830600

(1) 367 (Z2) 362

P
Lo
p—
]
= |
[ ]

(4) 377

Options :
1.v1

o %2
3. %3
4. % 4



Question Number : 142 Question Id : 9126063005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&omﬁs?“g svmgs@

If the mean and mode of a data are 58 and 52 respectively. Then the median of

the data 1s

28 BTPoTAS D0F(0, EFITVFS0 SO 58, 52 wowd. &8 dgroF @|rido

(1) 53 (2) 54 (3) 55 (4) 56

Options :
1.% 1
2 %2
3% 3
4 9 4

Question Number : 143 Question Id : 9126063006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

a»oaaﬁs?g svmgﬁ@

The mode of 124. 142, 86. 136, 126. 124. 98. 114 1s

124, 142, 56, 136, 126. 124. 95, 114 o er5r0o¥S0

(1) 124 (2) 86 (3) 142 (4) 126

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 144 Question Id : 9126063007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
3"0&355?“@ &mgﬁ@

The standard deviation of any five consecutive positive integers is

DD DA JBRD G rTosTY FArEIs VDo

(1) V2.5 (2) V2 (3) V5 (4) 2

Options :
1. % 1
o2
3 % 3
4 % 4

Question Number : 145 Question Id : 9126063008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
FoRIETR J208 S

@

The standard deviation of n observations xq,x5,.........,x, 15 15. Then the
standard deviation of the observations 5x; — 11,5x, — 11, .........,5x, — 11 1s
N DOBVDD X, Xy, oe vov e, Xy, © FD0763E DSOD0 15. 020 DOFODD
5x; —11,5x, — 11, ...... ... 5x, — 11 © raveeds Desodo
(1) 64 (2) 75 (3) 86 (4) 130

Options :

1. %1

2o

3. %3

4 % 4

Question Number : 146 Question Id : 9126063009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

&oa::ﬁv@ svmgs@

Two sports persons P and Q have participated m four competitions and their
respective ranks are as give in the table below. The rank correlation coefficient
1s

P. Q @d 266 sbrrw, rand J'ded® TS DT T8 Tojoren $06 DD

DBLS® e o). Y E G DIFR0e0s Koeaso

L II III IV
3 4 1 5
P:
2 5 - 3
Q:
1 gy T 3y L oy
1) 3 @ —3 3) 5 (4)
Options :
1. % 1
2. %2
3% 3
4 v 4

Question Number : 147 Question Id : 9126063010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

avoaaﬁs?u@ svmgs@

A bag contamns 3 white, 2 black and 4 red balls. Three balls are drawn m
succession without replacement. The probability that of the three balls drawn

one 1s white. one 1s black and one 1s red. 1s

208 D" 3 B, 2 HYD. 4 AGI LodLVT ) ow. TS 0L) wE T° STS
20888 S, SHD 0N HCUr DaDHroEE |, DD wodoen BFE. &

SR L0BVS” WL BYB, 28 YO, 288 G WA LoD

) = @ = (3) = 4) =

Options :
1.9 1

o %2
3. %3
4. % 4

Question Number : 148 Question Id : 9126063011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

bvoa:?gs?ﬂ@ 5“;“”36@

Two unbiased six faced dice are rolled. The probability of getting a sum which

1s a prime number is

G0ty A28 &6 DL FDSVRD EPorrd. ToEhp J\D VoL 2o

28 DO ?{:-oapg @0335 K:nc-e,:“;ﬁéej

(1) 5 @) OF Ok

Options :
1. %1
2. ¥z
3% 32
4. % 4

Question Number : 149 Question Id : 9126063012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&omﬁw@ avmgs@

When 4 un-biased coins are tossed. the probability of getting at least 2 heads 1s

4 DI L8 TETeO A6 DY SN0 2 e B0 en Sy Voo

u 2 5 1 5
) @) = 3) 3 (4) 5
Options :
1.¥1
= %z
3. % 3

4. % 4



Question Number : 150 Question Id : 9126063013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

.avcaa'gs?g sﬂmgs@

If a four digit number 1s formed at random using the digits 2. 5. 7. 8. 9 then the

probability that the sum of the digits in that number 1s a multiple of 2 15

0%5e 2. 5, 7. 8. 9 00 &DairAr oraydySorr 8 4 9050 R0

DB TS A woSw Do 2 WS, MEdREI] Boardls

) = 4) —

{]} % (2) 10 10

Options :
1.%1
=2 ¥z
3% 3
4. % 4

| o

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9126063014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Choose the correct meaning of the word given:
Punitive
(1) acquitting
(2) vengeful
(3) very small

(4) mtended as punishment

Options :



1. % 1
o %2
3. % 3
4.v 4

Question Number : 152 Question Id : 9126063015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Morale

(1) confidence
(2) dread

(3) morals

(4) purpose

Options :
1.91
2. % 2
3% 3
4 = 4

Question Number : 153 Question Id : 9126063016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Repertoire

(1) repentance
(2) inventory
(3) ruination

(4) symposium

Options :
1. %1
=2 ¥z
3% 3
4 = 4

Question Number : 154 Question Id : 9126063017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

Apartheid

(1) segregation
(2) aggregation
(3) integration

(4) immigration

Options :
1.91

o %2
3. % 3
4. % 4

Question Number : 155 Question Id : 9126063018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Foment

(1) cement
(2) instigate
(3) investigate

(4) profligate

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 156 Question Id : 9126063019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

Heckle

(1) abuse
(2) praise
(3) extreme
(4) solid

Options :
1.91
2. % 2
3% 3
4 % 4

Question Number : 157 Question Id : 9126063020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

Fill in the blank choosing the correct word:

The Prime Minister the members of his Cabinet to 1mprove
the governance of the country.

(1) abandoned
(2) reshuftled
(3) scolded

(4) admured
Options :
1. % 1
2.2
3. % 3
4. % 4

Question Number : 158 Question Id : 9126063021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

Meritorious candidates should not be from entering politics due
to lack of financial resources.

(1) mcluded
(2) excluded
(3) agitated

(4) punished

Options :
1. %1
2 ¥z
5 %3
4. % 4

Question Number : 159 Question Id : 9126063022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

It 1s unlawful to upon the copyrights of another person.

(1) intrude
(2) infringe
(3) take

(4) tread

Options :
1. %1
=2 ¥z
3 %3
4 % 4

Question Number : 160 Question Id : 9126063023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

The eagle down to catch its prey.

(1) swooped
(2) climbed
(3) walked
(4) turned

Options :

1.v1

o %o

3 %3

4 % 4

Question Number : 161 Question Id : 9126063024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Choose the correct answer:

A piece of code or data created by web server and stored on a user’s
computer 1s called

(1) cookie
(2) byte
(3) content
(4) browser

Options :
1.91

o %2
3. % 3
4. % 4

Question Number : 162 Question Id : 9126063025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A type of e-mail fraud in which the perpetrator sends out e-mails that
appear to come from a legitimate service or company is known as

(1) malware
(2) gateway
(3) device driver
(4) phishing

Options :
1. %1
2. %2
3 %3
4. ¥ 4

Question Number : 163 Question Id : 9126063026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A computer memory with very short access time used for storage of
recently used data 1s called

(1) browser
(2) processor
(3) cache
(4) SSD
Options :

1. %1

o %2
2.3

4. % 4

Question Number : 164 Question Id : 9126063027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

The unwanted software that can track one’s activities on the computer 1s
called

(1) spy bug
(2) spy virus
(3) spv spot
(4) spyware

Options :

1% 1

2 %2

3. %3

4 v 4

Question Number : 165 Question Id : 9126063028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Boolean Algebra finds its application in computer because

(1) it 1s easier than conventional algebra
(2) computers are programmed for it
(3) digital circuits are ON—OFF devices
(4) 1t 15 a sophisticated branch of algebra
Options :
1% 1
o % 2
3.¢3
4 % 4

Question Number : 166 Question Id : 9126063029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

‘No smoking in the factory’ 1s an example of
(1) policy
(2) procedure
(3) strategy
(4) rule
Options :
1% 1
o % 2
3 %3
4 ¢ 4

Question Number : 167 Question Id : 9126063030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

What is the title of the person who heads Reserve Bank of India?

(1) Chairman
(2) Chairman and Managing Director
(3) Governor
(4) Chancellor
Options :
1. % 1
2 %z
3.9 3
4 % 4

Question Number : 168 Question Id : 9126063031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A short official statement of news 1s called

(1) Notice
(2) bulletin
(3) memoir
(4) minute



Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 169 Question Id : 9126063032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The number assigned to every GST registered dealer 1s called
(1) GST NI
(2) GSTIN
(3) INGST
(4) NIGST
Options :
1% 1
2 V2
3 %3
4 % 4

Question Number : 170 Question Id : 9126063033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

CPM stands for

(1) Critical Path Method

(2) Critical Policy Method
(3) Composite Path Method
(4) Complex Path Method

Options :
1.91
2. % 2
3% 3
4 % 4

Question Number : 171 Question Id : 9126063034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

Choose the correct answer:

A: “He gave them elaborate instructions to carry out their project.”
B: “His advice fell on the deaf ears.”

‘B’ means

(1) thev failed to hear because they were deaf

(2) they followed his advice scrupulously

(3) they followed his advice, but were unsuccessful
(4) they did not bother about his instructions

Options :
1. %1
R
3. %3
4 v 4

Question Number : 172 Question Id : 9126063035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Change the active form of the following sentence to passive:
“We had baked the bread.”

(1) The bread 1s baked by us

(2) The bread has been baked by us
(3) The bread was baked by us

(4) The bread had been baked by us

Options :
1. %1
= %z
3% 32
4 v 4



Question Number : 173 Question Id : 9126063036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: *Are vou appearing for ICET this vear?’
B: °I think I will have a go at it.”
‘B’ means that he intends to:

(1) skip 1t
(2) appear for 1t
(3) take it casually
(4) decide on 1t later
Options :
1. %1
oz
3 %3
4. % 4

Question Number : 174 Question Id : 9126063037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: “How i1s your partnership with Ravi going.™
B: “Sorry. we fell out.”
‘B’ implies that

(1) they quarrelled
(2) thev went broke
(3) they had met with an accident
(4) their plan failed
Options :
1.v1
o % 2
3 %3
4 % 4

Question Number : 175 Question Id : 9126063038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A: “Iwish I had worked harder. I would have done better at the
interview.”

B: “Well yvou could try again.”

‘B” implies that “A°

(1) should not cry over split milk

(2) should strike while the iron 1s hot

(3) should make a hay while the sun shines
(4) should not be a stick in the mud

Options :
1.1

o %2
3. % 3
4. % 4

Question Number : 176 Question Id : 9126063039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A:“CanItry it on?”
B: “Sure. the changing rooms are over there.”
The conversation taken place in a

(1) footwear shop
(2) hotel
(3) hospital
(4) garment shop
Options :
1. %1
o ® o
3. %3
4 v 4

Question Number : 177 Question Id : 9126063040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A: “Why did you leave the company?”
B: “Only the wearer of shoe knows where it pinches.”
‘B’ means that

(1) the shoes given by the company were bad.
(2) the company is good but “A’ doesn’t know it.
(3) only an msider knows the difficulties
(4) the insiders know how to make good shoes.
Options :
1% 1
o % 2
3 ¢3
4 % 4

Question Number : 178 Question Id : 9126063041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:
Fill in the blanks with the appropriate phrase / verb / preposition:

He delights doing good.

(1) through

(2) 1n
(3) at
(4) over

Options :

1. %1

o o

3 %3

4. % 4

Question Number : 179 Question Id : 9126063042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:
He prevailed his misfortunes by not losing hope.

(1) on
(2) into
(3) with
(4) over

Options :

1. %1

2 %2

3 %3

4. v 4

Question Number : 180 Question Id : 9126063043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

They decided to have an mformed and brief discussion a cup of
coffee.

(1) on
(2) over
(3) by
(4) to

Options :
1. %1
2.2
3% 3
4 % 4

Question Number : 181 Question Id : 9126063044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

If teachers show favouritism. it can resentment.

(1) provide
(2) breed
(3) wreak
(4) hamper

Options :
1. %1
2.2
3% 3
4 % 4

Question Number : 182 Question Id : 9126063045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Many species of birds have become in the last hundred vears.

(1) obsolescent
(2) obscure
(3) extinct
(4) feeble
Options :
1. %1
o %2
3.¢3
4. % 4

Question Number : 183 Question Id : 9126063046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

You should not when I am talking to the other man.

(1) cut out
(2) cut in
(3) cut up
(4) cut above

Options :

1. %1

o ¥z

3 %3

4. % 4

Question Number : 184 Question Id : 9126063047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

However will we without you?

(1) getover
(2) get at
(3) geton
(4) get off

Options :
1. %1
2. % 2
3.¥ 32
4 % 4

Question Number : 185 Question Id : 9126063048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

The whole project dropped because of the lack of finance.

(1) through
(2) across
(3)1n
(4) away
Options :
1.v1
o %z
3 %3
4. % 4

Question Id : 9126063049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Duestion Label : Comprehension



Read the following passage and answer questions 36-40:

What is freedom? Freedom 1s the right to choose: the right to create for
oneself the alternatives of choice. Without the possibility of choice and exercise
of choice. we are not human beings but only mmanimate objects. Fortunately. we
are now living in a world full of choice: even in the selection of ice-cream or
soaps. there 1s so much choice that we find it difficult to choose and some
people feel that we actually suffer from what mayv be called choice fatigue!

Thanks to the tremendous growth and diversification in all spheres of life.
the educational spectrum is crowded with a variety of courses in every
conceivable field: most of the courses offered are practical and job-oriented and
as a result. there is an array of career options available. Students are becoming
smarter and they are learming to take intelligent decisions based on what 1s right
for them. A good way to choose one’s career path i1s to match one’s strengths
and aptitudes to the opportunities and threats in the job market of tomorrow.
There are career guidance cells and centres in most colleges and universities
from where one can get detailed information on career options.

Sub questions

Question Number : 186 Question Id : 9126063050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why 1s the right to choose important?

(1) without it we become soulless
(2) if helps us to be happy

(3) 1t enables us to be successtul
(4) 1t prevents conflict

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 187 Question Id : 9126063051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s ‘choice fatigue™?

(1) choices are indispensable

(2) choices are mevitable

(3) there are too many options to choose from

(4) a feeling of tiredness after making a choice
Options :
1. %1
o % 2
3.3
4 % 4

Question Number : 188 Question Id : 9126063052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why 1s there an ‘array of career options™ available?

(1) due to technological advances
(2) due to business opportunifies
(3) due to skilled labour
(4) due to the availability of practical and job oriented courses
Options :
1% 1
o % 2
3 %3
4 v 4

Question Number : 189 Question Id : 9126063053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How does one choose a “‘good career path’?

(1) by reading newspapers
(2) by assessing one’s own strengths and aptitudes
(3) by becoming smarter
(4) by looking at the job market
Options :
1% 1
2. ¥z
3 %3
4 % 4



Question Number : 190 Question Id : 9126063054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where can one get information on career options?

(1) from teachers

(2) from parents

(3) from career guidance centres
(4) from classmates

Options :
1. %1
2. % 2
3.¥ 32
4 = 4

Question Id : 9126063055 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)
Duestion Label : Comprehension



Read the following passage and answer questions 41-45:

Private victory precedes public victory. Self-mastery and self-discipline
are the foundations of good relationships with others. Some people say that you
have to like yourself before you can like others. I think that idea has merit. but
if you don’t know yourself. if you don't control yourself. if you don’t have
mastery over yourself. it 1s very hard to like yourself.

Independence is an achievement. Interdependence is a choice only
independent people can make. Unless we are willing to achieve real
independence, it 1s foolish to try to develop human relations skills.

The most important ingredient we put mto any relationship i1s not what we
say or what we do. but what we are. And if our words and our actions come
from superticial human relations rather than from own inner core. others will
sense that duplicity. We simply won’t be able to create and sustain the
foundation necessary for effective interdependence.

So the place to begin building any relationship is inside us. inside our own
character. As we become mdependent — proactive. centred in correct principles
— we then can choose to become interdependent capable of building rich.
enduring. highly productive relationships with other people.

Sub questions

Question Number : 191 Question Id : 9126063056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the most unportant mgredient we put into a relationship?

(1) words
(2) character
(3) actions
(4) Public victory
Options :
1. %1
o W2
3 ® 3
4 % 4

Question Number : 192 Question Id : 9126063057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What according to the author 1s ‘self independence’?

(1) a choice
(2) an achievement
(3) asocial necessity
(4) a duplicity
Options :
1. %1
o V2
3 %3
4. % 4

Question Number : 193 Question Id : 9126063058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘What 1s the right place to build a relationship?

(1) society

(2) mside ourselves

(3) office

(4) outside ourselves
Options :
1. %1
o V2
3. %3
4. % 4

Question Number : 194 Question Id : 9126063059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When do you like yvourself?

(1) When you have mastery over yourself
(2) When yvou don’t control yourself
(3) When you don’t know yourself
(4) When you have human skills
Options :
1.v1
o % 2
3 %3
4 % 4



Question Number : 195 Question Id : 9126063060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“You have to like yourself before vou can like others™. 1s a view the
author:

(1) disagrees with
(2) denounces
(3) negates
(4) agrees with
Options :
1% 1
2 %2
3 %3
4 ¢ 4

Question Id : 9126063061 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Duestion Label : Comprehension



Read the following passage and answer questions 46-50:

The origin and progress and future promotion of civilization are all ill
understood and misconceived. These should be made the chief theme of
education. but much hard work 1s necessary before we can reconstruct our ideas
of man and his capacities and free ourselves from innumerable persistent
misapprehensions. There have been obstructionists in all times. not merely the
lethargic masses. but the moralists. the rationalizing theologians. and most of the
philosophers. all busily if unconsciously engaged i ratifving existing ignorance
and mustakes and discouraging creative thought. Naturally. those who reassure
us seem worthy of honour and respect. Equally naturally those who puzzle us
with disturbing criticisms and invite us to change our ways are objects of
suspicion and readily discredited. Our personal discontent does not ordinarily
extend to any critical questioning of the general situation in which we find
ourselves. In every age prevailing conditions of civilization have appeared quite
natural and inevitable to those who grew up in them. Indeed. we are usually
quite unaware that a game 1s being played at all.

Sub questions

Question Number : 196 Question Id : 9126063062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What hampers the future of civilization?

(1) over enthusiasm
(2) lack of enthusiasm
(3) misconceptions
(4) proper analysis
Options :
1. %1
o ® o
3. v 3
4. % 4

Question Number : 197 Question Id : 9126063063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



How were promoters of change treated?

(1) always respected
(2) often suspected
(3) looked upon as profit seekers
(4) looked upon as cynical people
Options :
1% 1
2 ¥z
3 %3
4 % 4

Question Number : 198 Question Id : 9126063064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In all ages. there were people who blocked progress as there were

(1) dogmatic
(2) charismatic
(3) analytic
(4) uninterested
Options :
1.9 1
o %2
3. % 3
4. % 4

Question Number : 199 Question Id : 9126063065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In all times. even philosophers emerged as enemies of

(1) inductive philosophy
(2) deductive philosophy
(3) creative thought

(4) calculated responses

Options :
1.%1
2 %2
3.¢¥3



4. % 4

Question Number : 200 Question Id : 9126063066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

People of every age seem to accept the prevailing conditions

(1) after weighing the pros and cons
(2) prima facie

(3) on the recommendation of others
(4) under threat from authorities

Options :
1.%1
2.2
=% 3
4 % 4
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